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Arrangement And Pattern Questions Overview

Arrangement And Pattern Questions have a good weightage in the Banking Exam and the type of question asked in
Banking exam is similar to the question mentioned below. It has been solved and explained by Gargi.ai Experts and they
have tried to elaborate the concept used in Arrangement And Pattern Questions.

Arrangement And Pattern Questions

Direction: Study the following alphanumeric series carefully and answer the question given below. W 1 R % 4 J E
# 7 MT219BH3A3$9FQS5DGS®6USTP

Question

Four of the following five are alike in a certain way on the basis of the above arrangement and hence form a group. Which
one does not belong to that group?

Difficulty : Moderate Average Time: 59 Seconds

Options :
1. RW4

2.5FG
3.9QA
4.3B$

5 7TET

Solution

The correct answer is Option 3i.,e 9 Q A

Understanding
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Given series:

WI1R % 4IJEH#HT7TMT2I19
BH3AS$9FQ5DGZE®6US
P

In all the options except 9 Q A, the first
element moves 2 steps backward to give the
second element and the second element
moves 4 steps forward to give the third
element.

9 Q A does not belong to the group.

Hence, the correct answeris 9 Q A.
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